B 2B INT AR No.10  (7/5)

PAERS K%
(1) B 1 < |2]| < 2 LOFMBIE ©(2) T, ROEEREMEAT-TODERD K.
+100, |z| =1 DA,
zZ) =
—100, |z]| =2 DHA.

(2) a ZEBOERET D EE, Arg(z—a) B EEVFIH = {Imz > 0} LOFNBIEKTH %
LY, 20 L LHEMADEDFEMZMM LT, FMABEE U(2) TROBEFEA: 2 7
THOERD &

U(x) =

1, 0<z<1D8f,
0, z<0Fk3z>1DE4.

(e bt Arg(z —a) DFEE L TOMEICER. V() =a-Arg(z)+b-Arg(z —1) +c EBW
Ta,byc ZHHITED X))

(fRE] (1) Al OHEEDL S ®(2) =alog|z| +b DTS, 22 Ta, b%
alog1+ b =100, alog2+b=-100

e T X ) ISENER Y, BRI a = —200/1log2, b= 100 & L T

200

2) Uy P THEWLIETHL LTS, BB Arg (2 —a) DFE ETOfEIZz <aTmr xz>aT
0THDEIEIHERLT, 2<0,0<z<1BIV <z ilBI2MHE2EMZHMITEIICTS
120

ma+7mb+c=0, wb+c=1, ¢c=0

Zii7z T LIl a, b ez U IV, ThzefiEl &
a=-1/m, b=1/m, c¢=0.

2T, . .
U(z) = —-Arg(z—1) — — - Arg(z)
T T



